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ECONOMICS

( General )
Course : 501
( Elementary Statistics for Economics )

Full Marks : 80
Pass Marks : 32 [24

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. fotrE® Sev - 1x8=8
Answer as directed :
(a) AOTF IS SPEH Gve =7
Direct personal investigation is related to
(i) TR YR ATS
Government data
(i) M9 SR T3S
secondary data
(i) Y SYF FTS
primary data
(iv) P AN =M
index number

(% Teach! AR Bferear )

( Choose the correct answer )
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(2)

(b) € @R AR b IWIT ASEE BH
AR © |

The profit margins of a company during
the last five years are statistical data.

) =
Yes
(@) =¥
No
(o= Teach! 1Mk Bforear )
( Choose the correct answer )
(c) TFR (IO N1 T ?
Which of the following represents
Median?
(i) A4 TPYLF
First quartile
(i) 54 I
Fourth decile
(iii) Al vods
Second quartile
fiv) ST 9GBS T
None of the above
(o etk St )
( Choose the correct answer )
(d) RER T o1 foove smeres sfdsem
R W I e

out of all measures of dispersion, the
easiest one is

(i) T o
standard deviation
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(3)

(i) TR
range
(iii) g% oo
quartile deviation
(iv) &R4
variance

(o= Teeeh R Sfevean )

( Choose the correct answer )

() W W RGPS oG TR AT

I @R =
The dependent variate values in
interpolation and extrapolation are

termed as
(NSRRI )
(Fill in the blank )

() I T O R I A

20P/283

Base period for an index number should
be

(i) FT <O I=A
a year only
(i) <951 FORT 7
a normal year
(iti) T THOrSY 9Bl I
a year of distant past
(iv) SR I8 T
None of the above

( o7 Tech AR Bfeiear )

( Choose the correct answer )
( Turn Over )
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(4)

(g) <3O TR TaEd A B 2
Exit poll findings are based on

(i) R of &R

complete survey of the universe

(i) B I 2fwef

random sample of the universe
(i) SR fefRe T
quota sample of the universe

(iv) SR o187y
None of the above

(wmzﬁw&%%\m)

( Choose the correct answer )

) W@memmmnﬁ

An index number satisfies time reversal
test if

() Poy xPyy =1
() FoyxPg =1
(i) P x Py =1
(iv) SR «brs w7y
None of the above
(% Sawh 1% Bovean )

( Choose the correct answer )
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(S)

2. @R R @A w6 55 Gt foran 4x4=16

Write short notes on any four of the following :

(@)

(b)

(c)

@

(e)

(b)

20P/283

(e ©%
Secondary data

MISF TS

Arithmetic mean

% e

Mean deviation

IoF P T

Uses of index number

|
Range

T O SF T O[T T&GW ML o 1 g0

B N2 99 s =S Seam 47 |
4+7=11

Distinguish between primary data and
secondary data. Discuss the various
methods of collecting primary data.

g4/ Or
oferan Reme ke fa W s
AT 4+7=11

Define statistics. Write its various uses.
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(6)

4. (o) T PR T T e BT @2 T
&R R{fea ~m&femz vRiz e 4 |
3+8=11
What do you mean by measures of

central tendency or averages? Discuss
briefly the various methods of measuring

averages.
G/ Or
(b) oS fil SR o[ MMARE of% o
fady 71 - 5+6=11

Calculate the arithmetic mean and
median from the following data :

VIS ¢ T R PRI
Marks obtained in Exam. No. of students

1020 1
20-30 2
3040 3
40-50 5
50-60 7
60-70 12

| 70-80 16

.‘ 80-90 10

\ 90-100 4

5. (a) Rewam 1t st R @2 Reworm w9t Bl
FACS IR N TR P ¥ 3+8=11
What is meant by measures of

dispersion? Explain the methods of
measuring dispersion.
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(b)

6. (a)

(b)

20P/283

(7)

¥%{q1/ Or
oo fral oY o[ amifae Reem Adfa w11 11
Calculate the standard deviation from
the following data :
TR : 0-10 1020 20-30 30-40
Wages
e R 12 18 35 42
No. of workers
L] : 40-50 50-60 60-70 70-80
Wages
TR : S0 45 20 8
No. of workers
e 67 e peree o Ppeie I
8 o 9 W ? PIRT I TF MRze
Sy 01 2+4+5=11

What is an index number? Why is
Fisher’s index number considered as an
ideal index number? Mention the uses
and limitations of index number.

491/ Or

oo WAl O ORI (i) AR T RIS

o (i) BT o B sk Ry
5+6=11

Construct with the help of the data given
{ Tum Over )



(8)

below (i) Laspeyres’ price index and
(ii) Fisher’s ideal index number :

1990

2000

Articles

¥
Price

IR
Quantity

b
Price

A
Quantity

Dow>

20
50
40
20

8
10
15
20

40
60
50
20

6

5
15
25

7. (a)

(b)

ooP—14

*[283

SR I QA ? TR R ooz
1|

What is interpolation? Explain the
different methods of interpolation.

</ Or

TS FOF T x T VA HF 907 o y I
TR AW T R SRE See e R
O xOF I 73 AT yI TH FIa
91

Below are given the values of the
independent variable x and the
corresponding values of the dependent
variable y. Estimate by suitable method
of interpolation the value of y when x is
equal to 7 :

* & %

2+10=12
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